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The correct order is:


The even number between -18 and -22				-20
The number that is half way between 40 and -50  			-5
The difference between -6 and 7					13
The difference between -24 and -76					52
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True or False?
* The temperature outside is —5 degrees, the
temperature inside is 25 degrees.
The difference is 20 degrees.

* Four less than negative six is negative two.

15 more than —2is I3

Explain how you know each statement is true or false.

Ealse (-5 add 5 will take us to 0, we then need to add
25 to 0 to reach 25 degrees. So the difference is 30
degrees)

False the answer is negative 10

True (adding 2 will take us to 0, we then need to add
13 to take us to 13. 13+2 is 15|





